V=20 V=25 V=230 V =40 V=45 V =50 V =55 V =60 V=70
R* L L L L L L L L L
e e e e e e e e e
2In | 4In 2In| 41In 2In| 41In 2In| 41In 2In| 41In 2In| 41In 2In| 41In 2In| 41n 2In| 41In
23000 NC| O 0 INC| O 0O INC| O 0 JNC| O 0 JNC]| O 0 INC| O 0 JNC| O 0 INC| O 0 INC| O 0
20000 NC| O 0 INC| O 0 INC| O O INC| O O INC| O 0O INC]| O 0O INC| O 0O JNC| O 0 JNC| O 0
17000 NC| O 0 INC| O 0 INC| O 0 JNC| O 0 JNC]| O 0 INC| O 0 INC| O 0 INC| O 0 INC| O 0
14000 NC| O 0O INC| O 0 JNC| O O INC| O 0O INC| O 0O INC| O 0O INC| O 0O JNC| O 0 JRC| 60 | 90
12000 NC| O 0 INC| O 0 INC| O 0 JNC| O 0 JNC]| O 0 INC| O 0O JNC| O 0O INC| O 0 JRC| 60 | 90
10000 NC| 0 0O INC| O 0O INC| O 0 JNC| O 0 JNC| O O INC| O 0O INC| O 0O JRC| 53 | 80 ) 21| 63 | 96
8000 NC| O 0 INC| O 0 INC| O 0 JNC| O 0 JNC]| O 0 INC| O 0O JRC| 61 | 77 121 | 5 | 84 ] 25| 78 | 117
6000 NC| O 0O INC| O 0O INC| O O INC| O O JRC| 44 | 67T JRC| 48 | 72 |24 | 61 | 92 | 27 | 72 | 108] 3.4 | 102 | 153
5000 NC| O 0 INC| O 0O JNC| O 0 JRC| 41 | 62 |RC | 44 | 67 ] 24| 58 | 8 | 28| 71 |107]) 32 | 85 |128] 4.1 | 123 | 184
4000 NC| 0 0O INC| O 0O JNC| O 0 JRC| 41 | 62 | 24| 53 | 80 29| 70 | 10434 | 87 [130]) 39 | 104|156 4.9 | 147 | 221
3500 NC| O 0 JNC| O 0 JNC| O 0 J]23 |48 | 71127 | 60 | 9 32| 77 |115138 | 97 | 146 44 | 117 | 176 5.5 | 165 | 248
3000 NC| O 0O INC| O 0O JRC| 36 | 55126 | 54 | 8113169 |103)37| 89 |133])43|110|165] 5 |133]|200] 6.3 | 189 | 283
2500 NC| O 0 JNC| O O JRC| 36 | 55 ] 3 | 62 | 93 137 | 82 |123|43|103|155) 5 |128 |191] 5.7 | 152 | 228] 7.2 |215]| 324
2000 NC| 0 O JRC| 34 | 51124 | 44 | 6537 | 77 | 115044 | 98 | 147 51 | 122|184 59 | 151 | 226 6.6 | 176 | 264 ] 7.9 | 237 | 356
1800 NC| 0 | 0 JRC| 34 | 51|26| 47 | 71 )| 4 | 83 |124| 47 | 104|157 | 55 | 132 | 198 6.3 | 161 | 241 | 7.1 | 189 | 284 | Rpmin = 1820
1600 RC| 32 |49 )22 |38 | 57129 | 53| 7914491 |137|52|116|173]59 |142|212) 6.7 | 171 | 257 7.5 | 200 | 300
1400 RC| 32 |49 )24 | 41 | 62 132 | 58 | 87 | 48| 99 | 14956 | 124|187 6.4 | 154 | 230 7.2 | 184 | 276 7.8 | 208 | 312
1200 RC| 32| 49|28 | 48 | 72| 36| 65| 98 | 54 | 112|168 6.2 | 138 | 207] 7 | 168 | 252 7.7 | 197 | 295 | Rmin = 1205
1000 24 | 39 | 58133 |57 | 8 42| 76 |115] 6 | 124|186 6.8 | 151 | 227 7.6 | 182 | 274] 8 | 204 | 306
900 26| 42 | 63 ] 35| 60 | 90 | 45| 82 | 123| 6.4 | 132|199 7.2 | 160 | 240] 7.8 | 187 | 281 Rmin = 965
800 29 | 47 | 71139 | 67 |100) 49| 89 | 13468 | 141 | 211) 7.6 | 169 | 253 8 | 192 | 288
700 32| 52 | 76 | 43| 74 | 11153 | 96 | 145] 7.2 | 149 | 223 ] 7.9 | 176 | 263 ]  Rmin =760
600 36| 58 | 88 )48 | 82 | 12358 | 105|158 7.6 | 157 | 235] 8 | 178 267 Notes:
500 41|66 100353 91 135)64 116 1 1/5) 8 | 166 248 Rumin = 600 1. This figure applies to open-road conditions.
450 44| 71 107356 | 96 | 144) 6.7 | 122 | 183 Runin = 465 2. For applicable maximum side-friction factors for the various
400 48 | 78 | 117] 6 | 103 | 154] 7.1 | 129 | 194 design speeds, see Figure 43-2A
350 52 | 84 | 126 64 | 110 | 166 7.5 | 135 | 205
300 56 | 91 | 136 6.8 | 117 | 176 7.8 | 142 | 213 Key: R = Radius of curve (ft) €max = 8%
250 6.1 | 99 | 148) 74 | 127 | 190 8 | 145 218 V = Design speed (mph)
200 6.7 | 109 | 163 7.9 | 135 | 203 Rmin = 250 e = Superelevation rate (Percent)
150 75 | 122 | 182 Rpin = 170 L = Minimum length of superelevation runoff (from adverse
Rpin = 105 cross slope removed to full super)
* For curve radii intermediate between listed values, use a straight-line 2Ln= L for 2-lane, 2-way roadway rotated about the centerline
interpolation to determine the superelevation rate. 4Ln= Ldfor 4-lane divided highway rotated about the two media
edges
NC = Normal Crown
RC = Remove (adverse) crown

RATE OF SUPERELEVATION AND LENGTH OF SUPERELEVATION RUNOFF
(Rural Highways and High-Speed Urban Highways) ema.x = 8%
Figure 43-3A;



